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B. Since R; is the only component in series with a current source, all of that current
must pass through it by Kirchhoff’s Current Law, that is, 3 mA.

C. Rroap should be set to 0 Q.

D. R; in parallel with R3 is 4 KQ, which with R4 form a current divider in which 1/3
of the current will constitute Jout. Therefore, INorTon = 1 mA.

E. Rroap should be set to oo Q.

F. Since Rroap = o Q, no current will pass through R> or R3, meaning there will be
no voltage drop across them. All of / will pass through R4, so
Vour = VraEvENn =3 mA X 2 KQ =6 V.

G. RTHEVENIN = RNORTON = VTHEVENIN / INorRTON = 6 V /1 mA = 6 KQ.

H. Since 7 = 0, no current will pass through Ri. Thus Rtaevenin = RnorToN 18 R2 in
parallel with R3 (4 KQ) in series with R4 (2 K), or 6 KQ.

Last printed 1/16/20 6:29:00 AM



BioE 1310

B.

1011 - 412 = 2
_411 + 512 = 6

C.[=1AandI, =2 A.

D. 10(1) —4(2) =2
—4(1)+5(2) =6

Page 3 of 3

Last printed 1/16/20 6:29:00 AM



